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https://sites.google.com/a/wusd.ws/mr-martinez-geometry-bls/mathemetician-of-the-
month/srinivasaramanujan 

 

 

 

From: 

Highly composite numbers  
Proceedings of the London Mathematical Society, 2, XIV, 1915, 347 – 409 
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We have that: 

 

For N = 7.912454053394034144 × 1021 

 

(2^8*3^4*5^3*7^2*11*13*17*19*23*29*31*37*41*43) 

Input: 
 

 
Result: 

 
 
Scientific notation: 

 
7.912454053394034144*1021 

 

For O = 233, we obtain: 
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ln ln (7.912454053394034144 × 10^21) * 1/(ln(2))* (ln ln ln ln 
(7.912454053394034144 × 10^21)+Euler-Mascheroni constant+233(1/(ln ln ln 
(7.912454053394034144 × 10^21))) 

 

Input interpretation: 

 

 
 

 
Result: 

 
969.6352842… 

 

1/2((((ln ln (7.912454053394034144 × 10^21) * 1/(ln(2))* (ln ln ln ln 
(7.912454053394034144 × 10^21)+Euler-Mascheroni constant+233(1/(ln ln ln 
(7.912454053394034144 × 10^21)))))))) 

Input interpretation: 

 

 
 

 
 
 
Result: 

 
484.8176421...... result very near to Holographic Ricci dark energy model, where 
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1/47((((ln ln (7.912454053394034144 × 10^21) * 1/(ln(2))* (ln ln ln ln 
(7.912454053394034144 × 10^21)+Euler-Mascheroni constant+233(1/(ln ln ln 
(7.912454053394034144 × 10^21))))))))-4 

Input interpretation: 

 

 
 

 
 
Result: 

 
16.630537962.... result very near to the mass of the hypothetical light particle, the 
boson mX = 16.84 MeV 

 

 

[1/729(((ln ln (7.912454053394034144e+21) * 1/(ln(2))* (ln ln ln ln 
(7.912454053394034144e+21)+Euler-Mascheroni constant+233(1/(ln ln ln 
(7.912454053394034144e+21)))]))))-(29-7)/10^2-(47-3)/10^4 

Input interpretation: 

 

 
 

 
 
 
Result: 
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1.10568955… 

 

1/(10^52) [((((((1/729(((ln ln (7.912454e+21)1/(ln(2))(ln ln ln ln 
(7.912454e+21)+0.5772156+233(1/(ln ln ln (7.912454e+21)))))))))))))-(29-7)/10^2-
(47-3)/10^4] 

Input interpretation: 

 

 
 
 
 
 
Result: 

 
1.10568955…*10-52 

result practically equal to the value of Cosmological Constant 1.1056*10-52 m-2 

 

[1/7(((ln ln (7.912454053394034144e+21) * 1/(ln(2))* (ln ln ln ln 
(7.912454053394034144e+21)+Euler-Mascheroni constant+233(1/(ln ln ln 
(7.912454053394034144e+21)))]))))+1/golden ratio 

Input interpretation: 

 

 
 
 

Result: 

 
139.1373603…. result practically equal to the rest mass of  Pion meson 139.57 MeV 
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Now, we have that: 
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We have that: 

 

1.954*sqrt(x) = (ln x)^2   

 

Input: 

 

 

Plot: 

 

 
Solutions: 
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For x = 17.3084 we obtain: 

 

(ln 17.3084)^2   

 

Input interpretation: 
 

 
 
Result: 

 
1.954*sqrt(17.3084) 

 

Input interpretation: 

 
 
Result: 

 
8.1292975... 

(((1.954*sqrt(17.3084)))) / ((((ln 17.3084)^2)))   

 

Input interpretation: 

 

 

 
Result: 

 

1.00000026225108735……  value very near to the following Ramanujan continued 
fraction: 

 

 

(9)

  

(10)
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Alternative representations: 

 

 

 

 
Series representations: 

 

 

 

 
Integral representations: 

 

 

 

 

R(x) = 1.00000026225108735..... 

 

And: 
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1/((((((1.954*sqrt(17.3084)))) / ((((ln 17.3084)^2))))))      

 

Input interpretation: 

 

 

Result: 

 

0.999999737748981425249….. result very near to the value of the following 
Ramanujan continued fraction: 

  

 

 

 

(7)

   

(8)
 

 
Alternative representations: 

 

 

 

 
Series representations: 
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Integral representations: 

 

 

 

 

From which, we obtain: 

 

((((1/((((((1.954*sqrt(17.3084)))) / ((((ln 17.3084)^2))))))))))^4096    

 

Input interpretation: 

 

 
 
Result: 

 
0.99892639641221697...... result very near to the value of the following Rogers-
Ramanujan continued fraction: 
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and to the dilaton value 𝟎. 𝟗𝟖𝟗𝟏𝟏𝟕𝟑𝟓𝟐𝟐𝟒𝟑 = 𝝓  

 

 

And: 

 

2*sqrt[1/log base 0.998926396412216 ((((1/((((((1.954*sqrt(17.3084)))) / ((((ln 
17.3084)^2))))))))))]-Pi+1/golden ratio 

 

Input interpretation: 

 

 

 

 

Result: 

 

125.4764413352…. result very near to the dilaton mass calculated as a type of Higgs 
boson: 125 GeV for T = 0 and to the Higgs boson mass 125.18 GeV 

 
 
Alternative representations: 
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Series representations: 
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Integral representations: 
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2*sqrt[1/log base 0.998926396412216 ((((1/((((((1.954*sqrt(17.3084)))) / ((((ln 
17.3084)^2))))))))))]+11+1/golden ratio     

 

Input interpretation: 

 

 

 

 

Result: 

 

139.61803398….. result practically equal to the rest mass of  Pion meson 139.57 
MeV 
 

 

 

 

 
Alternative representations: 
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Series representations: 
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Integral representations: 

 

 

 

 
 

We have that: 

(after eq. 252) 
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And: 

 

 
Input: 

 
 
Result: 

 
Scientific notation: 

 
 

 

 

 

For R = 1,  n = 3  and   N = 21621600,  we obtain: 

 

  ((((((ln(5)/ln(4)))-1)))) Li(((((1/3 ln(21621600)^(3*((((ln(5)/ln(3))))-3))))) 

Input: 

 

 

 

Decimal approximation: 

 

-7.918550312975138281085838579694890949730781209501119 × 10-9 
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Alternate forms: 

 

 

 

 
Alternative representations: 

 

 

 

 
 
Series representations: 
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Integral representations: 
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-(((1/3 ln(21621600)^((3*((ln(5)/ln(3))-3)))) / (((3ln(1/3*ln(21621600))))) – (1/3 
ln(21621600))+((((sqrt(ln(21621600))))))/((((ln(ln(21621600))))))^3 

 

Input: 

 

 

 
Exact result: 

 

Decimal approximation: 

 

5.447773802891567009002511540670266419804633783231593000653 

 
 
 
Alternate forms: 
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Alternative representations: 

 

 

 

 
Input interpretation: 

 
 
Result: 

 
5.4477737949730166..... 

 

(-7.918550312975138281 × 10^-9 + 5.447773802891567009)^3-18-4 

 

Input interpretation: 
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Result: 

 
139.6803344549..... result practically equal to the rest mass of  Pion meson 139.57 
MeV 
 

 

(-7.918550312975138281 × 10^-9 + 5.447773802891567009)^3-47+11 

 

Input interpretation: 
 

 
Result: 

 
125.68033445.... result very near to the dilaton mass calculated as a type of Higgs 
boson: 125 GeV for T = 0 and to the Higgs boson mass 125.18 GeV 

 

 

Now, from: 

 

 
We obtain: 

((ln (3)))^(ln ln ln ln (3)) 

 

Input: 
 

 

Exact result: 
 

Decimal approximation: 
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Polar coordinates: 
 

1.08428 

Alternate form: 
 

 
General form 

 

 

Alternative representations: 

 

 

 

 
Series representations: 
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Integral representations: 

 

 

 

[((ln (3)))^(ln ln ln ln (3))]^6 + (47/10^3)i 

 

Input: 

 

 

 

Exact result: 

 

Decimal approximation: 

 

 
Alternate forms: 

 

 

 

 
Alternative representations: 
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Series representations: 
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Integral representations: 

 

 

 

 

 

The result is: 

 

1/10^27(-0.325953580612765584952131 + 1.638920063836049724274i) 

 

Input interpretation: 

 

 
 
Result: 

 
 
Polar coordinates: 

 
 

1.67101906...*10-27 result practically equal to the value of the formula:             
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𝑚௣ᇱ = 2 ×
ఎ

ோ
𝑚௉ = 1.6714213 × 10ିଶ଻ kg             

 
that is the holographic proton mass (N. Haramein) 
 

 

 

 

Now, we have that: 

 

 
for λ = 5, μ = 8, aλ ≤ (ln μ / ln λ)  and  p1 = 7 , we obtain: 

 

(ln(8))/(ln(5)) 

 

Input: 

 

 

 
 
 
Decimal approximation: 

 

1.29202967… 

Alternate form: 

 

 
Alternative representations: 
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Series representations: 

 

 

 

 
Integral representations: 

 

 

 

 

 

(((sqrt(ln(7)))) / (((2*5(ln(5))^1.5))) – sqrt2 

 

Input: 
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Result: 

 

-1.345893… 

 
Alternative representations: 

 

 

 

 
Series representations: 
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Integral representations: 

 

 

 

 

 

sqrt(1+x) – sqrt(1+1.29202967422) > (((sqrt(ln(7))))) / (((2*5(ln(5))^1.5))) – sqrt2 

 

Input interpretation: 

 

 
Result: 

 
 
Inequality plot: 
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Alternate forms: 

 

 

 
 
Alternate form assuming x>0: 

 
 
Solution: 

 
 
 
 

sqrt(1+0.971759) – sqrt(1+1.29202967422) 

 

Input interpretation: 

 
 
Result: 

 
-0.109752... 

 

 

 

We obtain: 

 

((((((sqrt(ln(7))))) / (((2*5(ln(5))^1.5))) – sqrt2))) / (((sqrt(1+0.971759) – 
sqrt(1+1.29202967422)))) 
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Input interpretation: 

 

 

Result: 

 

12.2631… result very near to the black hole entropy 12.1904 

 
Alternative representations: 
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Series representations: 
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Integral representations: 
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And: 

 

Input interpretation: 

 

 

Result: 

 

0.0815456… 

 
Alternative representations: 
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Series representations: 
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Integral representations: 
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Now, we have that: 

 

 
For p = 11, we obtain: 

 

-ln((1-1/2)(1-1/3)(1-1/5)(1-1/7)(1-1/11)) = ln ln (11) + 0.5772156649 + O(1/(ln(11))) 

 

Now: 

 

((-ln((1-1/2)(1-1/3)(1-1/5)(1-1/7)(1-1/11)))) 

Input: 

 

 

Exact result: 

 

Decimal approximation: 

 

1.5712166996… 

Property: 

 

Alternate forms: 
 

 

 
Alternative representations: 
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Series representations: 

 

 

 

 
Integral representations: 

 

 

 
 

For O = x, we obtain the following equation: 

 

((-ln((1-1/2)(1-1/3)(1-1/5)(1-1/7)(1-1/11)))) = ln ln (11) + 0.5772156649 + 
x(1/(ln(11))) 

 

Input interpretation: 
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Result: 

 

Plot: 

 

 
Alternate forms: 

 

 

 

Alternate form assuming x>0: 

 

 
Solution: 

 

0.286332 

 
thence: 

 

ln ln (11) + 0.5772156649 + 0.286332(1/(ln(11))) 

 

Input interpretation: 
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Result: 

 

1.571216766… 

 
Alternative representations: 

 

 

 

 
Series representations: 
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Integral representations: 

 

 

 

 
We note that: 

 

1+1/((((ln ln (11) + 0.5772156649 + 0.286332(1/(ln(11)))))))-18/10^3 

 

Input interpretation: 
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Result: 

 

1.61844942… result that is a very good approximation to the value of the golden 
ratio 1,618033988749... 
 

Alternative representations: 

 

 

 

 
Series representations: 
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Integral representation: 

 

 
 

And: 

 

1/10^27 ((((1+1/((((ln ln (11) + 0.5772156649 + 
0.286332(1/(ln(11)))))))+(29+7)/10^3)))) 

 

Input interpretation: 
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Result: 

 

1.6724494…*10-27 result practically equal to the proton mass in kg 

 
Alternative representations: 

 

 

 

 
Series representations: 
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Integral representation: 

 

 

 
1/10^52 (((((((ln ln (11) + 0.5772156649 + 0.286332(1/(ln(11)))))))-(4Pi/27)-(golden 
ratio)/10^4))) 

 

Input interpretation: 

 

 

 

Result: 

 

1.105634…*10-52 result practically equal to the value of Cosmological Constant 
1.1056*10-52 m-2 

 

 
Alternative representations: 
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Series representations: 
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Integral representations: 
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We have that: 

 

 
 

-((ln(7)/ln(2))) ln((1-1/2)(1-1/3)(1-1/5))+(((((sqrt(ln(7)ln ln(7)))ln ln ln(7))))) 

Input: 

 

 

Exact result: 

 

Decimal approximation: 

 

3.247545488… 

Alternate forms: 
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Alternative representations: 

 

 

 

 
Series representations: 
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Integral representation: 
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1/10^27((((1/2[-((ln(7)/ln(2))) ln((1-1/2)(1-1/3)(1-1/5))+(((((sqrt(ln(7)ln ln(7)))ln ln 
ln(7)))))]+(47+2)/10^3)))) 

Input: 

 

 

Exact result: 

 

 
Decimal approximation: 

 

1.672772744…*10-27 result practically equal to the proton mass in kg 

 
Alternate forms: 
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Alternative representations: 

 

 

 

 
Series representations: 
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Integral representation: 

 

 

 
 

[-((ln(7)/ln(2))) ln((1-1/2)(1-1/3)(1-1/5))+(((((sqrt(ln(7)ln ln(7)))ln ln 
ln(7)))))]^6+18+golden ratio 

Input: 

 

 

 

Exact result: 

 

 
Decimal approximation: 

 

1192.70837124… result practically equal to the rest mass of Sigma baryon 1192.642  

Alternate forms: 
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Alternative representations: 
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[-((ln(7)/ln(2))) ln((1-1/2)(1-1/3)(1-1/5))+(((((sqrt(ln(7)ln ln(7)))ln ln ln(7)))))]^6-
199+47-golden ratio 

Input: 

 

 

 

Exact result: 

 

Decimal approximation: 

 

1019.472303… result practically equal to the rest mass of Phi meson 1019.445 

Alternate forms: 
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Alternative representations: 
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Now, we have that: 

 

 

For N = 21621600, we obtain: 

Li(ln(21621600))-
((ln(21621600))^(ln(1.5)/ln(2)))/((ln(ln(21621600))))+(ln(21621600))^(5/12) 

Input: 

 

 

 

 
Result: 

 

10.2359… 
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Alternative representations: 

 

 

 

 
Series representations: 
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Integral representations: 
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2Pi+(((Li(ln(21621600))-
((ln(21621600))^(ln(1.5)/ln(2)))/((ln(ln(21621600))))+(ln(21621600))^(5/12)))) 

Input: 
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Result: 

 

16.5191… result very near to the black hole entropy 16.8741 and to the mass of the 
hypothetical light particle, the boson mX = 16.84 MeV 

 

 

Alternative representations: 

 

 

 

 
Series representations: 
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Integral representations: 
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7*((((2Pi+(((Li(ln(21621600))-
((ln(21621600))^(ln(1.5)/ln(2)))/((ln(ln(21621600))))+(ln(21621600))^(5/12)))))))) 
+11-golden ratio 

Input: 
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Result: 

 

125.016… result very near to the dilaton mass calculated as a type of Higgs boson: 
125 GeV for T = 0 and to the Higgs boson mass 125.18 GeV 

 

 
Alternative representations: 
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Series representations: 

 

 

 

 
 

7*((((2Pi+(((Li(ln(21621600))-
((ln(21621600))^(ln(1.5)/ln(2)))/((ln(ln(21621600))))+(ln(21621600))^(5/12)))))))) 
+29-Pi-golden ratio 
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Input: 

 

 

 

 

 
Result: 

 

139.874… result practically equal to the rest mass of  Pion meson 139.57 MeV 
 

 
Alternative representations: 
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Series representations: 

 

 

 

 

From: 

 

 



75 
 

 

For R = 1,  n = 3  and   N = 21621600,  we obtain: 

 

ln(2) * Li(ln(21621600))+ln(1.5)Li((ln(3))^(ln(1.5)ln(2)) – 
ln(2)*(((ln(21621600)^((ln(1.5)/(ln(2))))/((ln(ln(21621600)))-
ln(2)*(ln(21621600))+(((((sqrt(ln(21621600))))/(((ln(ln(21621600))^3))) 

 

ln(2) * Li(ln(21621600))+ln(1.5)Li((ln(3))^(ln(1.5)ln(2))) 

Input: 

 

 
 

 
Result: 

 
4.8972580789698818645… 

 

4.8972580789698818645 – 
ln(2)*(((ln(21621600)^((ln(1.5)/(ln(2)))))))/((ln(ln(21621600))))-
ln(2)*(ln(21621600))+(((((sqrt(ln(21621600))))/(((ln(ln(21621600))^3)))))) 

Input interpretation: 

 

 

Result: 

 

-7.90880… 
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Alternative representations: 

 

 

 

 
Series representations: 
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2*(((((4.8972580789698818645 – 
ln(2)*(((ln(21621600)^((ln(1.5)/(ln(2)))))))/((ln(ln(21621600))))-
ln(2)*(ln(21621600))+(((((sqrt(ln(21621600))))/(((ln(ln(21621600))^3)))))))))))^2+1/
golden ratio 

 

Input interpretation: 
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Result: 

 

125.716… result very near to the dilaton mass calculated as a type of Higgs boson: 
125 GeV for T = 0 and to the Higgs boson mass 125.18 GeV 

 

Alternative representations: 
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Series representations: 
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2*(((((4.8972580789698818645 – 
ln(2)*(((ln(21621600)^((ln(1.5)/(ln(2)))))))/((ln(ln(21621600))))-
ln(2)*(ln(21621600))+(((((sqrt(ln(21621600))))/(((ln(ln(21621600))^3)))))))))))^2+11
+Pi+1/golden ratio 

 

Input interpretation: 

 

 

 

Result: 

 

139.858… result practically equal to the rest mass of  Pion meson 139.57 MeV 
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Alternative representations: 
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Series representations: 
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Now, we have that: 

 

 
For R = 1,  O = 1  and   N = 21621600,  we obtain: 

 

ln(9/8) / ln(2) * (((sqrt(ln(21621600))/(((ln(ln(21621600)))))))) + ((4ln(3/2))) / 
(ln(ln(21621600)))^2 – 
(ln(21621600))+((((sqrt(ln(21621600)))))/((ln(ln(21621600))^3)))) 

 

Input: 
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Exact result: 

 

Decimal approximation: 

 

-16.2572081572…. 

 

Alternate forms: 
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Alternative representations: 
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Series representations: 
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88 
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-(((ln(9/8) / ln(2) * (((sqrt(ln(21621600))/(((ln(ln(21621600)))))))) + ((4ln(3/2))) / 
(ln(ln(21621600)))^2 – 
(ln(21621600))+((((sqrt(ln(21621600)))))/((ln(ln(21621600))^3)))-1/golden ratio))) 

 

Input: 

 

 

 

Exact result: 

 

Decimal approximation: 

 

16.875242146…. result practically equal to the black hole entropy 16.8741 and to the 
mass of the hypothetical light particle, the boson mX = 16.84 MeV 

 

Alternate forms: 
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Alternative representations: 
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Series representations: 
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7*-(((ln(9/8) / ln(2) * (((sqrt(ln(21621600))/(((ln(ln(21621600)))))))) + ((4ln(3/2))) / 
(ln(ln(21621600)))^2 – 
(ln(21621600))+((((sqrt(ln(21621600)))))/((ln(ln(21621600))^3)))-1/golden ratio)))+7 

Input: 

 

 

 

Exact result: 

 

Decimal approximation: 

 

125.1266950222466…. result very near to the dilaton mass calculated as a type of 
Higgs boson: 125 GeV for T = 0 and to the Higgs boson mass 125.18 GeV 

 

Alternate forms: 
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Alternative representations: 
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7*-(((ln(9/8) / ln(2) * (((sqrt(ln(21621600))/(((ln(ln(21621600)))))))) + ((4ln(3/2))) / 
(ln(ln(21621600)))^2 – 
(ln(21621600))+((((sqrt(ln(21621600)))))/((ln(ln(21621600))^3)))-1/golden 
ratio)))+18+3 

Input: 

 

 

 

Exact result: 

 

Decimal approximation: 

 

139.1266950222466…. result practically equal to the rest mass of  Pion meson 
139.57 MeV 
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Alternate forms: 
 

 

 

 

 
Alternative representations: 
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Now, we have that: 

 
 

ln(3/2) / ln(2) Li(ln(21621600))^(ln(1.5)/ln(2)))-
((ln(21621600))^(ln(1.5)/ln(2)))/((ln(ln(21621600))))-
(ln(21621600))+((((sqrt(ln(21621600))))))/((((ln(ln(21621600))))))^3 

 
 
 



100 
 

Input: 
 

 

 

 

Result: 

 

-16.4632…. result very near to the mass of the hypothetical light particle, the boson 
mX = 16.84 MeV with minus sign 

 

 

Alternative representations: 
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-8*(((ln(3/2) / ln(2) Li(ln(21621600))^(ln(1.5)/ln(2)))-
((ln(21621600))^(ln(1.5)/ln(2)))/((ln(ln(21621600))))-
(ln(21621600))+((((sqrt(ln(21621600))))))/((((ln(ln(21621600))))))^3))+8 

Input: 

 

 

 

Result: 

 

139.705… result practically equal to the rest mass of  Pion meson 139.57 MeV 
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Alternative representations: 
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From: 

https://blog.wolfram.com/2013/05/01/after-100-years-ramanujan-gap-filled/ 
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We have that: 

 

(((((((1+((sqrt5-1)^10)/1024))^1/2 – 1/32(sqrt5-1)^5))))^1/5 

Input: 

 
 
Decimal approximation: 

 
0.98215156455…. result very near to the value of the following Rogers-Ramanujan 
continued fraction: 
 

 
 
 

and to the dilaton value 𝟎. 𝟗𝟖𝟗𝟏𝟏𝟕𝟑𝟓𝟐𝟐𝟒𝟑 = 𝝓  

 

 

Alternate forms: 

 

 

 
 
Minimal polynomial: 
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Continued fraction: 

 
 

(((-7+5sqrt5+(35(5-2sqrt5))^1/2)))^1/5 

Input: 

 
 
Decimal approximation: 

 
1.53343393353167….. 

 

Alternate form: 

 
Minimal polynomial: 
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Continued fraction: 

 
 

 

(((-7-5sqrt5+(35(5+2sqrt5))^1/2)))^1/5 

Input: 

 
 
Decimal approximation: 

 
0.48731297839151….. 

 

Alternate form: 

 
Minimal polynomial: 
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Continued fraction: 

 
 

 

(((-81/8-(45sqrt5)/8+25/4(1/2(19+9sqrt5))^1/2+3/4((((5(225+103sqrt5-
5sqrt(22(181+81sqrt5)))))^1/2)))))^(1/5) 

Input: 

 
 
Result: 

 
 
 
Decimal approximation: 

 
1.584291893060286…… 
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Alternate forms: 

 

 

 
 
Minimal polynomial: 

 
 
Continued fraction: 

 
 

(((568-325sqrt3-260sqrt5+150sqrt15+2*((5(65750-37960sqrt3-
29393sqrt5+16970sqrt15)))^1/2)))^(1/5) 
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Input: 

 
 
Decimal approximation: 

 
1.5658292280247776…. 

 
Alternate forms: 

 

 
Minimal polynomial: 

 
 
Continued fraction: 
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For a = -568-325sqrt3+260sqrt5+150sqrt15 

 

((((sqrt(((-568-325sqrt3+260sqrt5+150sqrt15)^2+1))-(-568-
325sqrt3+260sqrt5+150sqrt15)))))^1/5 

 

Input: 

 
 
Result: 

 
 
Decimal approximation: 

 
0.4368799418888404993…… 

 
Alternate forms: 

 

 

 
 
Minimal polynomial: 
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Continued fraction: 

 
 

 

 

((3+sqrt5+(sqrt(15+6sqrt5))))^1/5 

 

Input: 

 
 
Decimal approximation: 

 
1.6024646920751991627… result practically equal to the elementary charge without 
exponent 

 

Alternate form: 

 
 
Minimal polynomial: 
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Continued fraction: 

 
 

 

 

((3-sqrt5+(sqrt(3*(5-2sqrt5)))))^1/5 

 

Input: 

 
 
Decimal approximation: 

 
1.1512532253508328497… 

 
Alternate form: 

 
 
Minimal polynomial: 
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Continued fraction: 

 
 

 

 

(((((((-3+5sqrt5+(30(5-sqrt5))^1/2)))^1/5)))) / (2)^(2/5) 

 

Input: 

 
 
Decimal approximation: 

 
1.3400723903061381265… 

 
Alternate forms: 

 

 
Minimal polynomial: 
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Continued fraction: 

 
 

 
 

(((((((-3-5sqrt5+(30(5+sqrt5))^1/2)))^1/5)))) / (2)^(2/5) 

 

Input: 

 
 
Decimal approximation: 

 
0.673271499377838…. 

 

Alternate forms: 

 

 
 
Minimal polynomial: 
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Continued fraction: 

 
 
 

(((((((9-sqrt5+3(2(5-sqrt5))^1/2)))^1/5)))) / (2)^(1/5) 

 

Input: 

 
Result: 

 
Decimal approximation: 

 
1.47190230137890442….. 

 
Alternate forms: 
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Minimal polynomial: 

 
 
Continued fraction: 

 
 

 
 

[(((((((1/8(((81+45sqrt5+25(sqrt(38+18sqrt5)))))))^2+1)))))^1/2 - 
(((1/8(((81+45sqrt5+25(sqrt(38+18sqrt5))))))))]^(1/5) 

 

Input: 

 
 
Exact result: 
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Decimal approximation: 

 
0.397550321973103166….. 

 

Alternate forms: 

 

 

 
Minimal polynomial: 

 
 
Continued fraction: 
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1/2[(((((((sqrt65+7)^1/2) – (sqrt65-1)^1/2)*sqrt5))/ (((((((sqrt65+9)^1/2) – 
(sqrt65+7)^1/2)*2))))))^3-11] 

 

Input: 

 
Exact result: 

 
Decimal approximation: 

 
 
Alternate forms: 
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Minimal polynomial: 

 
 

 

((((((76.771165597621737624724^2+1))^1/2-76.771165597621737624724))))^1/5 

 

Input interpretation: 

 
 
Result: 

 
0.3653849793177824269… 

 

Continued fraction: 
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From this sum, we obtain: 

 

0.98215156455 + 1.53343393353167 + 0.48731297839151 + 1.584291893060286 + 
1.5658292280247776 + 0.4368799418888404993 + 1.6024646920751991627 

Input interpretation: 

 
 
Result: 

 
8.192364231522283262 

(8.192364231522283262 + 1.1512532253508328497 + 1.3400723903061381265 + 
0.673271499377838 + 1.47190230137890442 + 0.397550321973103166 + 
0.3653849793177824269) 

Input interpretation: 

 
 
Result: 

 
13.5917989492268822511 

 

In atomic physics, Rydberg unit of energy, symbol Ry, corresponds to the energy of 
the photon whose wavenumber is the Rydberg constant, i.e. the ionization energy of 
the hydrogen atom. 

 

We have also: 

 

Input interpretation: 

 
 
Result: 
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0.222080861566500571… 

Input interpretation: 

 
 
Result: 

 
1.27462294061329…. 

Input interpretation: 

 
 
Result: 

 
0.283069360823826….. 

 

And: 

1/0.98215156455 + 1/1.53343393353167 + 1/0.48731297839151 + 
1/1.584291893060286 + 1/1.5658292280247776 + 1/0.4368799418888404993 + 
1/1.6024646920751991627 

Input interpretation: 

 
 
Result: 

 
7.90520635951832946….. 

 

(1/1.1512532253508328497 + 1/1.3400723903061381265 + 1/0.673271499377838 + 
1/1.47190230137890442 + 1/0.397550321973103166 + 1/0.3653849793177824269) 
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Input interpretation: 

 
 
Result: 

 
9.0317690139343064…. 

 

(7.905206359518329467967784264198793045502344235017542302462 + 
9.031769013934306462087446035243170079654329298316796820387) 

Input interpretation: 

 
Result: 

 
 
Repeating decimal: 

 
16.9369753734526…. result very near to the mass of the hypothetical light particle, 
the boson mX = 16.84 MeV 

 

 

We have that: 

(8.192364231522283262 + 1.1512532253508328497 + 1.3400723903061381265 + 
0.673271499377838 + 1.47190230137890442 + 0.397550321973103166 + 
0.3653849793177824269)^3 +7 

Where 7 is a Lucas number 

Input interpretation: 

 
 
Result: 
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2517.90814449..... result practically equal to the rest mass of charmed Sigma baryon 
2517.9 

 

(8.192364231522283262 + 1.1512532253508328497 + 1.3400723903061381265 + 
0.673271499377838 + 1.47190230137890442 + 0.397550321973103166 + 
0.3653849793177824269)^3 -728 

Where 728 = 93 – 1  (Ramanujan cube) 

 

Input interpretation: 

 
 
Result: 

 
 
Repeating decimal: 

 
1782.90814..... result in the range of the hypothetical mass of Gluino (gluino = 
1785.16 GeV). 

 

(8.192364231 + 1.151253225 + 1.340072390 + 0.673271499 + 1.471902301 + 
0.397550321 + 0.365384979)^3 -744-34-Pi-1/golden ratio 

Input interpretation: 

 

 
 
Result: 

 
1729.14852… 

This result is very near to the mass of candidate glueball f0(1710) meson. 
Furthermore, 1728 occurs in the algebraic formula for the j-invariant of an elliptic 
curve. As a consequence, it is sometimes called a Zagier as a pun on the Gross–
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Zagier theorem. The number 1728 is one less than the Hardy–Ramanujan number 
1729 

 

Alternative representations: 

 

 

 
 
Series representations: 

 

 

 
 
Integral representations: 
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(8.192364231 + 1.151253225 + 1.340072390 + 0.673271499 + 1.471902301 + 
0.397550321 + 0.365384979)^3 -1729+1/golden ratio 

Input interpretation: 

 

 
Result: 

 
782.526177… result practically equal to the rest mass of Omega meson 782.65 

 
 
Alternative representations: 

 

 

 
 

 

(8.192364231 + 1.151253225 + 1.340072390 + 0.673271499 + 1.471902301 + 
0.397550321 + 0.365384979)^2 * golden ratio^2 

Input interpretation: 

 

 
 
 
 
 
Result: 

 
483.647741… result practically equal to Holographic Ricci dark energy model, 
where 
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Alternative representations: 

 

 

 
 

 

(8.192364231 + 1.151253225 + 1.340072390 + 0.673271499 + 1.471902301 + 
0.397550321 + 0.365384979)*11-7-e 

Input interpretation: 

 
 
Result: 

 
139.7915066... result practically equal to the rest mass of  Pion meson 139.57 MeV 

 

(8.192364231 + 1.151253225 + 1.340072390 + 0.673271499 + 1.471902301 + 
0.397550321 + 0.365384979)*11-18-2Pi 

Input interpretation: 

 
 
Result: 

 
125.2266031... result very near to the dilaton mass calculated as a type of Higgs 
boson: 125 GeV for T = 0 and to the Higgs boson mass 125.18 GeV 
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1/10^52 ((((8.192364231 + 1.151253225 + 1.340072390 + 0.673271499 + 
1.471902301 + 0.397550321 + 0.365384979)/11 - 13/10^2))) 

Input interpretation: 

 
 
Result: 

 
1.105618086 * 10-52 result practically equal to the value of Cosmological Constant 
1.1056*10-52 m-2 

 

With regard 744, we have that: 

 

Thence: 

744 = e^(Pi*sqrt163)-640320^3 

Indeed: 

e^(Pi*sqrt163)-640320^3 

Input: 

 

 
Exact result: 
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Decimal approximation: 

 

743.999… ≈ 744 

Property: 

 

 
Series representations: 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



130 
 

References 

 

Highly composite numbers  
Proceedings of the London Mathematical Society, 2, XIV, 1915, 347 – 409 

 


